
Model X3 X4 X4 X5R* X6 X7R* X8 X8 X10R* X14R*
Weight (Kg) 1.25 1.62 1.62 1.6 2.5 1.7 3.24 3.24 3.4 3.5

Dimensions (mm) 148 X 67 X 112 148 X 67 X 140 148 X 67 X 140 148 X 67 X 140 148 X 134 X 140 148 X 67 X 140 148 X 134 X 140 148 X 134 X 140 296 X 67 X 140 296 X 67 X 140

CA (Amp) 360 480 480 500 720 700 960 960 1000 1400

Terminals M6 screw M6 screw M6 screw M6 screw M6 screw M6 screw M6 screw M6 screw M6 screw M6 screw

SAE Tapered Connector
SAE Tapered

Connector
SAE Tapered Connector SAE Tapered Connector

SAE Tapered

Connector

SAE Tapered

Connector

SAE Tapered

Connector

SAE Tapered

Connector

SAE Tapered

Connector

SAE Tapered

Connector

Weight Saving (kg) -1.75 Kg -3.88 Kg -3.28 Kg -5.4 Kg -7.46 Kg -11.66 Kg -15.26 Kg >18 Kg

ODISSEY Odissey ER8/PC310 Odissey ER15 Odissey ER18/PC535 Odissey ER40

Voltage (V) 12 12 12 12

Capacity (Ah) 8 15 14 45

CA (Amp) @ 0°C 310 370 535 1100

CCA (Amp) @-18°C

Terminals M4 M6 Female M6 Female M6 Female

Weight (Kg) 2.7 5.5 4.9 12.5

Dimensions (mm) 138 x 86 x 102 200 X 77 X 134 176 X 84 X130 250 x 97 x 205

ODISSEY Odissey PC625 Odissey PC680 Odissey PC925 Odissey PC1200

Voltage (V) 12 12 12 12

Capacity (Ah) 17 17 28 44

CA (Amp) @ 20°C 625 680 925 1200

CA (Amp) @ 0°C

CCA (Amp) @-18°C 380

Terminals M6 Female M6 Female M6 Female M6 Female

Weight (Kg) 6 6.8 11 17

Dimensions (mm) 170 x 100 x 175 181 x 77 x 167 165 x 176 x 125 190 x 165 x 170

ODISSEY Odissey LB545 Odissey LB680 Odissey LB925 Odissey PC1200

Voltage (V) 12 12 12 12

Capacity (Ah) 14 17 28 46

CA (Amp) @ 20°C 545 680 925 1200

CA (Amp) @ 0°C

CCA (Amp) @-18°C 230 280 470 630

Terminals DIN - JIS DIN - JIS M6 Female M6 Female

Weight (Kg) 5.4 5.4 11 17

Dimensions (mm) 178 x 86 x 150 185 x 80 x 188 170 x 176 x 145 200 x 170 x 188

VARLEY Varley Red Top 8 Varley Red Top 15 Varley Red Top 20 Varley Red Top 25 Varley Red Top 35 Varley Red Top 40 Varley Red Top 60

DMS Part No K750-K536 7065-0005 K770-K017 7065-0017 7065-0018 7065-0007

Voltage (V) 12 12 12 12 12 12 12

Capacity (Ah) 8 15 13 20 28 39 51

CA (Amp) @ 20°C 550 545 680 1150 1400

CA (Amp) @ 0°C 190 310 530 600 960

CCA (Amp) @ -18°C 100 156 185 230 410 500 683

Terminals M6 Female M6 Female M6 Female M6 Female M6 Female M6 Female M6 Male

Weight (Kg) 3 5.5 4.9 7 10.7 14.9 18.5

Dimensions (mm) 138 x 86 x 102 200 X 77 X 134 176 X 84 X130 181 x 77 x 167 165 x 176 x 125 250 x 97 x 192 220 x 121 x 255

DECA POWERSPORT ETX9 ETX12 ETX14 /L - ETX15 /L ETX16 /L - ETX18L - ETX20L ETX30L ETX30LA

Part Number ETX9 ETX12 ETX14 / ETX14L

Voltage (V) 12 12 12 12 12 12

Capacity (Ah) - 10h ratings 8 10 12 16/18/20 30 30

CA (Amp) @ 20°C

CA (Amp) @ 0°C

CCA (Amp) @ -18°C 120 180 220 340 400 400

Terminals M6 Female M6 Female M6 Female

Weight (Kg) 3.2 4.3 5.4 8.2 9.8 9.8

Dimensions (mm) 150 x 88 x 106 150 x 88 x 130 150 x 88 x 145 175 x 88 x 155 168 x 131 x 176 168 x 131 x 197

Model X3 X4 X4 X5R X6 X7R X8 X8 X10R X14R

R
ac

in
g 

ca
rs

 u
p

 t
o

 1
 L

it
re

 u
si

n
g 

al
te

rn
at

o
r,

 

M
o

to
rc

yc
le

s,
 P

it
 E

q
u

ip
m

en
tm

ay

R
ac

in
g 

ca
rs

 u
p

 t
o

 2
.5

 L
it

re
s 

u
si

n
g 

al
te

rn
at

o
r,

 

M
o

to
rc

yc
le

s,
 P

it
 E

q
u

ip
m

en
t.

 A
1G

P
, C

at
er

h
am

s,
 

Sp
o

rt
s 

20
00

 D
u

ra
te

c,
 F

F1
60

0
, F

F2
00

0,
 F

F 
Ze

te
c,

 F
F 

D
u

ra
te

c,
 F

 B
M

W
, F

 J
e

d
i, 

F 
M

as
te

rs
, F

 R
en

au
lt

, F
 V

ee
, 

Lo
tu

s 
El

is
e

 C
h

al
le

n
ge

, o
th

er
 r

ac
e 

ca
rs

 w
/o

 a
lt

er
n

at
o

r 

u
p

 t
o

 1
60

0
cc

, o
th

er
 r

ac
e 

ca
rs

 w
it

h
 a

lt
er

n
at

o
r 

u
p

 t
o

 

30
00

cc
.

R
ac

in
g 

ca
rs

 u
p

 t
o

 1
 L

it
re

 u
si

n
g 

al
te

rn
at

o
r,

 

M
o

to
rc

yc
le

s,
 P

it
 E

q
u

ip
m

en
t 

Sp
o

rt
s 

20
0

0 
D

u
ra

te
c,

 

FF
16

0
0,

 F
F2

0
00

, F
o

rm
u

la
 R

en
au

lt
, W

e
st

fi
el

d
s,

 

C
at

er
h

am
s.

R
ac

in
g 

ca
rs

 u
p

 t
o

 2
.5

 L
it

re
s 

u
si

n
g 

al
te

rn
at

o
r,

 

M
o

to
rc

yc
le

s,
 P

it
 E

q
u

ip
m

en
t 

Sp
o

rt
s 

20
0

0 
D

u
ra

te
c,

 

FF
16

0
0,

 F
F2

0
00

, F
o

rm
u

la
 R

en
au

lt
, W

e
st

fi
el

d
s,

 

C
at

er
h

am
s,

 B
R

C
.

R
ac

in
g 

ca
rs

 u
p

 t
o

 3
.5

 L
it

re
s 

u
si

n
g 

al
te

rn
at

o
r,

 P
it

 

Eq
u

ip
m

en
t 

A
u

st
ra

lia
n

 V
8 

Su
p

er
ca

rs
, A

LM
S,

 B
ri

tc
ar

, 

B
ri

ts
p

o
rt

s,
 B

TC
C

, D
TM

, F
3,

 F
er

ra
ri

 C
h

al
le

n
ge

, F
F2

00
0,

 

G
T'

s,
 G

in
et

ta
, G

ro
u

p
 C

 H
is

to
ri

c 
Sp

o
rt

s,
 In

d
y 

C
ar

s,
 

LM
S,

 M
in

i C
h

al
le

n
ge

, M
o

n
o

p
o

st
o

, S
p

o
rt

s 
20

00
 P

in
to

, 

R
ad

ic
al

s,
 R

al
ly

 C
ar

s,
 V

d
eV

, W
TC

C

R
ac

in
g 

ca
rs

 u
p

 t
o

 3
.5

 L
it

re
s 

u
si

n
g 

al
te

rn
at

o
r,

 P
it

 

Eq
u

ip
m

en
t 

A
u

st
ra

lia
n

 V
8 

Su
p

er
ca

rs
, A

LM
S,

 B
ri

tc
ar

, 

B
ri

ts
p

o
rt

s,
 B

TC
C

, D
TM

, F
3,

 F
er

ra
ri

 C
h

al
le

n
ge

, F
F2

00
0,

 

G
T'

s,
 G

in
et

ta
, G

ro
u

p
 C

 H
is

to
ri

c 
Sp

o
rt

s,
 In

d
y 

C
ar

s,
 

LM
S,

 M
in

i C
h

al
le

n
ge

, M
o

n
o

p
o

st
o

, S
p

o
rt

s 
20

00
 P

in
to

, 

R
ad

ic
al

s,
 R

al
ly

 C
ar

s,
 V

d
eV

, W
TC

C

R
ac

in
g 

ca
rs

 u
p

 t
o

 3
.5

 L
it

re
s 

u
si

n
g 

al
te

rn
at

o
r.

. G
in

et
ta

 

G
40

, G
5

0,
 G

55
, M

o
rg

an
s

R
ac

in
g 

ca
rs

 u
p

 t
o

 5
Li

tr
es

 u
si

n
g 

al
te

rn
at

o
r,

 4
x4

, A
LM

S,
 

B
ri

ts
p

o
rt

s,
 D

TM
, G

ro
u

p
 C

, G
T 

En
d

u
ra

n
ce

,G
T'

s,
 L

M
S,

 

W
TC

C
. B

TC
C

, W
R

C

R
ac

in
g 

ca
rs

 6
 L

it
re

s 
an

d
 a

b
o

ve
 u

si
n

g 
al

te
rn

at
o

r,
 

N
A

SC
A

R

R
ac

in
g 

ca
rs

 8
 L

it
re

s 
an

d
 a

b
o

ve
 u

si
n

g 
al

te
rn

at
o

r

*ONLY RACING USE *ONLY RACING USE *ONLY RACING USE *ONLY RACING USE
X5R NOT HOMOLOGATED 

FOR STREET USE

X7R NOT HOMOLOGATED 

FOR STREET USE

X10R NOT HOMOLOGATED FOR 

STREET USE

X14R NOT HOMOLOGATED FOR 

STREET USE

34

12

7065-0006

Varley Red Top 30

Odissey ER30

-8.1 Kg

250 x 97 x 142

10.6

M6 Female

450

550

850

27

12

250 X 97 X 155

5.7

M6 Female

950


